ST UDY L ENTITRE

WORKSHEET II
MEASURES OF DISPERSION

For the set of observation 13, 25, 36, 22, 18, 45, 21, 26, 30, 22. Calculate range and coefficient
of range.

&6 QTHEHSILL (HelTen alauIhSEhHE iFas LBBID SiHeT QHwpemer smems: 13, 25, 36, 22,
18, 45, 21, 26, 30, 22

The following are the prices of shares of AB co Ltd.

200, 210, 208, 160, 220, 250

Calculate range and coefficient of range.

AB e sbOueiuier umig elemsvser CaTGSSLILIL (BeTonal. Subplear aiFs LBBID iFasd
O (pemey SIS

200, 210, 208, 160, 220, 250

Calculate range coefficient of range from the following data.

Marks 10-20 20 -30 30 - 40 40 - 50 50 - 60
Frequency |8 10 12 8 4

&6 CHTEHSLILL(BHeiTen aleuImibEhdE aiFdH LBDID aiFsH sl SHTewN s

LG C1GL160T 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60
SI6M6V0l6L6TT 8 10 12 8 +
Calculate the range and coefficient of range for the following data

Uelleubld efleuImisehd@ aiFs LB@ID aiFsH OB SHTew s

Income / 40 - 45 45 - 50 50 - 55 55 - 60 60 - 65
6)(THLDITGUTLD

No. of Workers / 7 11 30 20 5
Camifleomenitaerest

6163160011 56

Calculate standard deviation from the following data

8,12,13,15,22

Uelteubd efleumisend@d HULalevdbsd smews: 8, 12, 13, 15, 22

1

PH: 24339436, 42867555, 9840099828




10.

Calculate standard deviation from the following data
15,9, 10,12, 9,11, 10, 12
LNeTeu(hld DAHILBEHEHES SHL L alevHHD HTewIH
15, 9, 10, 12, 9, 11, 10, 12

Calculate the standard deviation from the data given below

X 1 2 3 4 5

f 3 7 10 3 2

SHHTaID alUIRISEHHGHH HL L alevdbdHlD HTEwIH

X 1 2 3 4 5

f 3 7 10 3 2

Find the standard deviation for the following data.

SHHTEID alaUIRIBEHHG HLL ale0HHHMSH HTWIB
Age /
WIS 10 20 30 40 50 60 70 80
No. of
Persons / | 15 15 23 22 25 10 5 10
[BLITEH6NT 68T
6160016001 E56M &

The following table gives the distribution of income of 100 families in a village. Calculate
standard deviation.

Spbeeni DI Leuenewiulled @b SIS evieiTen

CETBHBILLBaTaNg. FL L alevdsHms ST s

100 @Gbubseile aurHLTET  @lleuFmisber

Income /
6)(THLDTGUTLD

0 - 1000

1000-2000

2000-3000

3000-4000

4000-5000

5000-6000

No. of
Families /
& BLoumIS6NT 6T
67600160011 6N B

18

26

30

10

Calculate standard deviation for the following distribution.

BPEHBMIL LIFUISHE SHLLale0dHHD HT6wH

Marks /

LD IGILIGTOT B 6T

0-10

10-20

20-30

30 - 40

40 - 50

50 - 60

60 - 70

No. of Student

/ TemTeuTSeMMesT
6T6UGT 6001 & 61 &

5

12

30

45

50

37

21

2
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12.

13.

14.

15.

The scores of two batsmen A and B in ten innings during a certain season are
A uvpp B eaam @rewie Sfs0s’  eifideT usHdH oL miseled  6IBHDH  @LLBIB6I
Q&sTBHoHHLILIL (H6iT6rT60T

A 32 28 47 63 71 39 10 60 96 14

B 19 31 48 53 67 90 10 62 40 80

Find which of the two batsman A, B is more consistent in scoring.
QPLULMEIS6T QUBBHL WGHHSH Fremw 2 L w alemenwml B eiJT Wi eIeailmeHd HTemId

Following are the marks obtained by two students A and B in 10 sets of examination.
A uvppb B aap Srewih wrewieuiser 10 GaTeyseiley 6BSHdH LHUIOCLHISHET  LleTeUHLOmy]
QarHdb &L (HeiTerTe0l.

Marks
obtained by | 44 80 76 48 52 72 68 56 60 64
A/ A GQuip
LOFHIGILICTITH6IT

Marks
obtained by | 48 75 54 60 63 69 72 51 52 56
B/ B Qubs
LOFHIOILIGHIT H6IT

If the consistency of performance is the criterion for awarding the prize, who should get the
prize?

V@b Fremwowner Hmeo iglienL uled Geupplwreneny Gsitey OFUISHTe0, W Geumnpsl GuBMeuT
616015 GBITGWI%H

For a distribution the coefficient of variation is 25 and the value of arithmetic average is 35.
Find out the value of standard deviation.

QUH UJeuedE WIPILTL(G Osw 25 wBpid eeuisanls ggrefl waHliy 35 eaeled L alevdsld
BITCITH

The mean of a data is 25 and its coefficient of variation is 18. Find the standard deviation.
Qm SHyaler ggmafl 25 woBpid DG WTRUTLH sy 18 saied FHiLaleudbsld HTew s

The following figures relate to wage payments in two firms A and B.
Uedleu(hld LILLOTegh @T6mi(B [HImIeUaTmhibeTe 26 HUImisEhL 6T OSHTL LML W

Firm A Firm B
X 75 80
o 13 17

Which is more variable?
s DIHHOTS WLIBILIGISI 61H7
3
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17.

The following figures relate to wage payments in two firms A and B.
Uelleu(hld LILLOTegh @T6mi(B [HImIeUeThideTe 26 HUImIsEHL 65T OSHTL LML U

Firm A Firm B
X 100 90
o 25 18

Which is more variable?
e DIHHTS WIBILGISI 6157

Find the standard deviation of first 10 natural numbers?
WHeo 10 Buied eemideien FHLLallevdbsd HTewnis

4
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